Geometry (A) Name KﬂJ Date:

Unit 3 (Chapter 4) Assessment Review
Section 4.1

Find the value of x. Then classify the triangle by its angles.

1 2. XeX+X = \80
(2x+ 2)2 o
52° | x:e0 ]
2X4242%4+2+3%+1 2180
1x+s=l:oc) Sxd 1) awte 4 Equanguiar A
X 2|
[x-25]
3. 4,
3%-29 < 80 +X Yx+8-aX+3+5)
3N-a9 =80 SR RARC
(ax—22) ki aMg:sqb
Yl3x— 0 =
‘-;:—5“] awie A =
| x=a3
5 6. A c

Qo+ UX-5+ 3% 41\ =\80

20%X+6 =q4%X-2 +40 TX+q0 <80
29%+ 6= QR +3§ (Bx+ 11)° TA=8Y

A -
A AR+5 =38 @

=
7. A triangle has vertices A(1, 1), B(3, 0) and C(2, 3). Graph the triangle and classify it by its sides. Then
determine whether it is a right triangle. Show all work. Justify your answer.
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8. MULTIPLE CHOICE:
Which of the following triangles does not exist?
L. acute isosceles II. right scalene
[II. obtuse equilateral IV. obtuse scalene
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Section 4.2- In the diagram, AALX = AGIW . Complete the following. w
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15.  msl=_ 3% 16.  msL=_ 33°
17.  Iw=__4un 18. ALAx= B\GW

Sections 4.3-4.5
State the congruence that is needed to prove ADEF = AQRT using the given postulate or theorem.

Given: LD = /£Q, LF = /T using AAS A
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0. Given: LE = /R, EF =RT using ASA
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Decide whether the triangles can be proven congruent by the given postulate or theorem. Explain your
answer.
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26. Describe the error. o
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27.In AABC and ADEF, AB 1 BC, DE 1L EF, CB= EF, and AC = DF. AABC = ADEF by
which triangle congruency postulate? (HINT: It may be helpful to draw a picture!)
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28. If ABIG = ADAY, all of the following are true EXCEPT; AABC= HOEF by HL
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Section 4.6 o
29. Given: AB||DE, AB=DE
Prove: C is midpoint of BE A L
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30. Given: DA L AC and BC L AC A .
Prove: /D= /B
D
Statements Reasons
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Section 4.7
Find the value of x. Classify by sides.
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37. Intriangle DEF, mZD = (4x + 2)°, mZE = (6x — 30)°, and m£F = 3x°. Classify the triangle
by angles and sides. Explain your reasoning.
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